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Read the following instructions carefully before you begin to attempt the questions.

This booklet contains 50 questions in all comprising the following two parts.

e Part-(l) : English (20 Questions)

e Part-(ll) : RAGA (30 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages and find that no
page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.

There is no negative marking.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll number, Test
name/ld and name of the examination on the Answer-Sheet carefully before you actually start attempting the questions. You
must also put your signature on the Answer-Sheet at the prescribed place. These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant question
number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different from the
information given in the application form, the candidature of such candidate will be treated as cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be deemed fit.
Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not spend
too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates are
advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in their own
interest. Failing to comply with this provision will be considered as using unfair means in the examination and action will be
taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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10.

11.
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ENGLISH

Choose the most appropriate answer and fill in the
blanks:

How oranges do you put in the box?
(A) Much (B) Most
(C) Many (D) More

Choose the most appropriate answer and fill in the
blanks:

You will not succeed
(A) If

(C) When

you work hard.
(B) While
(D) Unless

Choose the most appropriate answer and fill in the
blanks:

Adjective form of 'Friend’ will be .

(A) Friendship (B) Friendly

(C) Befriend (D) Friendhood

Choose the most appropriate answer and fill in the
blanks:

Each of the students participating in the

examination.
(A) was (B) were
(C) has (D) have

Identify the part of speech of the underlined word.
He is young looking but an insipid young man.
(A) Noun (B) Adverb

(C) Adjective (D) Verb

Rewrite the sentences given below using different
degrees of comparison.

Shakespeare is the most famous of all writers in
English.

(A) Shakespeare is greater than any others writer in
English.

(B) No other writer in English is as famous than
Shakespeare.

(C) No other writer in English is more famous as
Shakespeare.

(D) Shakespeare is greater than any other writer in
English.

Choose the option to fill the blank space correctly.
There is plenty of time ............ the train for us.

(A) to get (B) to catch

(C) to hold (D) to reach

Rearrange the sentence correctly.

is aimed at (1) in by turncoats (2) the Anti-defection
bill (3) checking the evil practice indulged (4)

(A) 3142 (B) 3124

(C) 1234 (D) 4321

Rearrange the sentence correctly.

by his good batting (1) turns the table (2) on the
opposite team (3) a batsman often (4)

(A) 4213 (B) 4231

(C) 4132 (D) 4321

Change the narration.

Ram said to me "He had committed a mistake."

(A) Ram said to me that he had committed a mistake.
(B) Ram told me that he had been committed a
mistake.

(C) Ram told to me that he had committed a mistake.

(D) Ram told me that he had committed a mistake.

Change the voice.
We have completed our task before sunset.
(A) Our task had been completed before sunset.

(B) Our task has been completed before sunset.
(C) Our task was completed before sunset.
(D) Our task is completed before sunset.

12. Choose the correctly spelt word.
(A) liesone (B) liazone
(C) lieison (D) liaison

13. Choose the option the expresses the meaning of the
given Idiom.

Yeomen service

(A) Service for a short period
(B) Very costly service

(C) Useful service in need
(D) Work without preparation

14. Choose the word that expresses the opposite
meaning of the given word.

WEARY
(A) Apathy (B) Falsity
(C) Refreshed (D) Crude
15. Choose the word that best expresses the meaning of
the given word.
CURTAIL
(A) Downsize (B) Lengthen
(C) Prolong (D) Extend
16. Select the word which means the same as the group

of words given.

Protection or of authority over someone.
(A) Autonomous (B) Tutelage

(C) Nonaligned (D) Unaided

Direction (17-20): Read the passage given below and
answer the questions that follow:

Chandrayaan-1 was India's first mission to the moon.
It operated for almost a year (between October 2008
and August 2009). The lunar orbiter is best known for
helping to discover evidence of water molecules on
the moon. The name Chandrayaan means "Moon
Craft" in ancient Sanskrit, according to NASA. The
Chandrayaan-1 spacecraft was based on an Indian
meteorological satellite called Kalpansat. It was about
the size of a refrigerator, with a dry weight (weight
without fuel) of about 525 kilograms (1,160 Ibs.) and
was powered by a solar array that charged lithium-ion
batteries on board.

Chandrayaan-1 launched on Oct,22,2008, from the
Satish Dhawan Space Center in Sriharikota, India,
aboard a Polar Satellite Launch Vehicle rocket,
according to NASA. It reached the moon on Nov. 8,
2008. The spacecraft released its Moon Impact Probe
on Nov. 14, which crashed into the moon on the same
day.

17. What crashed into the moon?
(A) Satish Dhawan Space Center
(B) Polar Satellite Launch Vehicle rocket
(C) Moon Craft
(D) Moon Impact Probe

18. When the Chandrayaan-1 reached the moon?
(A) on Nov. 8, 2009 (B) on Nov. 8, 2008
(C) on Nov. 9, 2008 (D) on dec. 8, 2008

19. From where the Chandrayaan-1 was launched?
(A) from the Satish Dhawan optical Center
(B) from the Satish Tiwari Space Center
(C) from the Satish Dhawan Space Center
(D) from the Sushant Dhawan Space Center
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What was the purpose of Chandrayaan-1?

(A) to discover evidence of water molecules on the
moon.

(B) to discover gases molecule on the moon surface.
(C) to discover mountains on the moon.

(D) to discover air molecules on the moon surface.

RAGA

Which of the following countries will host the World
Leaders Conference to Combat Anti-Semitism in
October 2020?
(A) Denmark
(C) Belgium

(B) Norway
(D) Sweden

In which state is 'Tarnetar' fair celebrated annually?

(A) Gujrat (B) Manipur

(C) Madhya Pradesh (D) Telangana a1
According to Article 243 V of the Constitution of India,

the minimum age requirement for becoming a

member of a Municipalty is .

(A) 32 years (B) 21years

(C) 28years (D) 24years

The Bacille Calmette-Guerin vaccine (popularly called

BCG vaccine) is a vaccine to prevent which of these

diseases?

(A) Tuberculosis (B) Typhoid

(C) Polio (D) Jaundice

Which among the following oceans is “S-shaped”?

(A) Pacific Ocean (B) Atlantic Ocean

(C) Arctic Ocean (D) Indian Ocean 32.

Who among the following is the author of the book-
“Train to Pakistan™?

(A) Khushwant Singh
(C) Manmohan Singh

(B) Shashi Tharoor
(D) Jhumpa Lahiri

Who among the following was the Chairman of the

Union Powers Committee of Constituent Assembly? 33.
(A) B R Ambedkar (B) J.B Kriplani

(C) K M Munshi (D) Jawaharlal Nehru

Identify the diagram that best
relationship among the given classes.
Hardware, Mouse, Chrome 34.

represents the

O

(A) (B)

35.
© (o) 36,
Arrange the following words in a meaningful logical
sequence and choose the appropriate number
sequence from the alternatives.
1. Fairy 2. Camel
3. Desert 4. Elephant
5. Blink 37
(A)1,2,3,4,5 (B)5,2,3,1,4 :
(©)1,4,382,5 (D)5,3,1,4,2

Select the figure that will come next in the following
figure series.
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Select the Venn diagram that best illustrates the
relationship between the following classes.

Moon, Venus, Universe
© I

ON©
O

J
o

(A) (B)

(©) (D)

Arrange the following words in a logical and
meaningful order.

1. Cloud 2. Rainbow

3. Devastation 4. Rain

5. Low Pressure 6. Flood

(A)1,5,4,2,6,3 (B)5,1,4,2,6,

2,6,3
(C)5,4,1,2,3,6 (D)5,1,2,4,6,3
In a certain coded language, ‘FARMER’ is written as
‘713823 and ‘LIBRARY’ is written as ‘6453139". How
is ‘REMEMBER’ written in that code language?
(A) 32828253 (B) 32825823
(C) 32828523 (D) 32288523

In the following question, select the missing number
from the series.

32 |72 |12
4 |8 [3
8 [9 [~2
(A)8 (B)S
(€ 4 (D)7

If two signs, ‘+ and +’ are interchanged, which of the
following equation will be correct?
(A)16+9+4x8=34 (B) 16 +21 + 13 x 26 = 56
(C)13x9+16+2=125 (D)11+13x4+2=37

A series is given with one term missing. Choose the
correct alternative from the given ones that will
complete the series.

9 -7 -16 -20 ?
(A) 21 (B) -21
(C)-23 (D) -26

Select the related word/letters/number from the given
alternatives.

Finland: Euro:: Libya: ?
(A) Dirham

(C) Rial

(B) Dinar
(D) Dollar
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38.

39.

40.

41.

42.

43.

44.

45.

46.

In a certain code language, ‘MANDARIN' is written as
‘% @#3@&*#. How is 'DRAMA' written in that code

language?
(A) %&@%@ (B) $&@%*
(C) $&@%@ (D) $*@%#

If x means added to, + means multiplied by , + means
subtracted from and — means divided by. Then
24+36-12x8+4 =?

(A) 36 (B) 53

©)5 (D) -20

Find the radius of cylinder whose curved surface area
is 627 sqg. cm. (Take height =11 cm and 1 = 3)

(A)7 (B) 14

() 10.5 (D) 9.5

Find Sin A + Sec A, if tan2 A = 25/144
(A) 229/156 (B) 263/156
(C) 29/60 (D) 165/124

The perimeter of a semicircle is 72 cm. Find the area
of the circle.

(A) 154 (B) 616

(C) 346.5 (D) None of these

When an article is sold for Rs. 176.7 the loss is 7%. If
a profit of 15% is to be earned on selling this article,
find its selling price?
(A) 199.5
(C) 207.5

(B) 2185
(D) 225.4

In a school, girls constitute 55% of total strength. If
the average mark obtained by all girls in the class is
63.5 and average marks of school (boys and girls
combined) are 50. Find the average marks obtained

by boys?
(A) 46 (B) 35.5
(C) 325 (D) 33.5

Choose the image that will come next in the series.

QL

(A) . (B)

© ©)

Choose the image that will come next in the series.

0|@0@]?
O

(A) (B)

LR

>
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Choose the image that will come next in the series.
2 2 2 ]

IS@ti 1% 4 16@4 1'3@4 D)
g 32

& 328 7|8 3z

2 2
16@4 16@4
8 32 8 32
(A) (B)
2 2
16@4 16@4
8 32 8 32
© (D)

A train running at 58 km/hr is trying to overtake a train
running at 49 km/hr. Faster train overtakes the slower
train in 3 minutes. If train with faster speed is shorter
than the other train by 10 m. Find the length of longer
train?

(A)210m
(C)230m

(B) 220 m
(D)240 m

In a AABC, the bisectors of «B and «C meet at point
O, inside the triangle. If £BOC = 122°, then the
measure of ZA is:

(A) 72° (B) 64°

(C)62° (D) 68°

What is the second smallest number which upon
dividing by 3, 5, 7 and 11 leaves a remainder of 2 in
each case?

(A) 2310 (B) 2312
(C) 2314 (D) 2316
RlesMus
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Ans.1(C)

Ans.2(D)

Ans.3(B)

Ans.4(A)

Ans.5(C)

Ans.6(D)

Ans.7(A)

Ans.8(A)

Ans.9(B)

Ans.10(D)

Fb:-

ENGLISH

The correct answer is option C i.e. Many.

Many + plural Noun.

As 'oranges' in the sentence is plural. Many will
suit the blank space grammatically and
contextually.

So the chosen option is correct.

The correct answer is option D i.e. Unless.

As the first sentence is negative and the other is
positive we have to choose the connector
according to it.

According to options only Unless will fit the
context because this shows both conditions and
contradictions.

So, this will be the right answer.

The correct answer is option B i.e. Friendly.
Whenever we add 'ly' with a noun it becomes
Adjective.

As Friend is a noun so "Friend + Ly- Friendly
will be an adjective.

The correct answer is option A i.e. was.

Each of + plural noun + singular verb .
According to this rule, we have to choose Was
as our answer because it is singular.

"Has/have + v3" so this can not be the right
answer.

The correct answer is option C i.e. adjective.
insipid- (adjective) lacking flavor; weak or
tasteless.

The correct answer is option D i.e. Shakespeare
is greater than any other writer in English.

The first option will be wrong because - "any +
other" is correct.

In the second option it should be - as famous as.
In the third option, it should be - as famous as.
The fourth option has all the agreement so it will
be correct.

The correct answer is option A i.e. to get.

"To get' is used for the train.so the chosen option
is correct.

The correct answer is option A i.e. 3142.

The best of solving this section is forming pairs.
The first pair will be "Anti-defection bill is"
because a subject needs the verb.

The second pair will be " indulged in " means 42.
The correct arrangement will be- 3142

The Anti-defection bill is aimed at checking the
evil practice indulged in by turn coats.

The correct answer is option B i.e. 4231.

The best of solving this section is forming pairs.
The first pair will be "batsman often turns
because a subject needs the verb.

The second pair will be "opposite team by his"
means 31.

The correct arrangement will be- 4231

A batsman often turns the table on the opposite
team by his good batting.

The correct answer is option D i.e. Ram told me
that he had committed a mistake.

If the reported speech is in past perfect tense we
don't change the tense of the statement.

said should be changed into- told.

That should be used as a conjunction.

Ans.11(B)

Ans.12(D)

Ans.13(C)

Ans.14(C)

Ans.15(A)

Ans.16(B)

Ans.17(D)

Ans.18(B)

Ans.19(C)

Ans.20(A)

1| Page

The correct answer is option B i.e. Our task
has been completed before sunset.

if the active voice is - subject + has/have + v3 +
object + other word.

Passive voice will be- object + have/has+ been +
v3 + by + subject.

As the chosen option follows the given rule it will
be correct.

The correct answer is option D i.e. liaison.
liaison- communication or cooperation which
facilitates a close working relationship between
people or organizations.

The correct answer is option C i.e. useful service
in need.

The meaning of the given idiom is-

Yeomen service- useful service in need.

The correct answer is option C i.e. refreshed.
weary-feeling or showing extreme tiredness,
especially as a result of excessive exertion.
refreshed-having regained strength or energy.
crude-in a natural or raw state; not yet
processed or refined.

As the chosen word express the opposite
meaning of the given word it will be correct.

The correct answer is option A i.e. Downsize.
curtail-reduce in extent or quantity; impose a
restriction on.

downsize-make (something) smaller.
prolong-continuing for a long time or longer than
usual; lengthy.

extend-cause to cover a wider area; make
larger.

lengthen-make or become longer.

As the chosen word expresses the best meaning
it will be the correct answer.

The correct answer is option B i.e. tutelage.
autonomous-(of a country or region) having the
freedom to govern itself or control its own affairs.
tutelage-protection of or authority over someone
or something; guardianship.

nonaligned-not aligned with something else.
unaided-needing or having no assistance;
without help.

As the chosen option has the same meaning as
the given group of words it will be correct.

The correct answer is option D i.e. Moon Impact
Probe.

As it is clearly mentioned in the passage that
The spacecraft released its Moon Impact Probe
on Nov. 14, which crashed into the moon on the
same day.

The correct answer is option B i.e. on Nov. 8,
2008.

As it is clearly mentioned in the passage that It
reached the moon on Nov. 8, 2008.

The correct answer is option C i.e from the
Satish Dhawan Space Center.

As it is clearly mentioned in the passage that
Chandrayaan-1 launched on Oct,22,2008, from
the Satish Dhawan Space Center in Sriharikota.
The correct answer is option A i.e. to discover
evidence of water molecules on the moon.

As it is clearly mentioned in the passage that
The lunar orbiter is best known for helping to
discover evidence of water molecules on the
moon.
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Ans.21(D)

Which of the following countries will host | Sweden
the World Leaders Conference to Combat
Anti-Semitism in October 2020?

World Leaders Conference to Combat | ¢ Swedish Prime Minister Stefan Lofven announced that Sweden
Anti-Semitism 2020: will host an International Conference against Anti-Semitism in
memory of the Holocaust in October 2020.

e |t will be held in Malmo, Southern Sweden, on October 27 and 28.
Sweden: e Capital: Stockholm

e Currency: Swedish krona

e Points of interest: Gamla stan, Vasa Museum, The Royal Palace
etc.

e Official language: Swedish

Ans.22(A)

In which state is 'Tarnetar' fair | Gujarat
celebrated annually?
"Tarnetar' fair: e Tarnetar is known for its annual fair, the Trinetreshwar Mahadev Mela, which
is held near the Trinetreshwar Mahadev temple.

e |t attracts villagers from all over the region as well as tourists.

e Around 100,000 people typically attend.

Gujarat Capital: Gandhinagar

CM: Vijay Rupani

Governor: Acharya Devvrat

Ans.23(B)
According to Article 243 V of the Constitution of India, | 21 years
the minimum age requirement for becoming a
member of a Municipalty is

Article 243 V of the Constitution of India: e Atrticle 243 V describes disqualification criteria of age
requirement for becoming a member of a Municipality.

e A member is disqualified to be chosen as a member
of the municipality if he/she is disqualified under any law
to be elected as MLA.

e The minimum age to be qualified as a member is 21

years.
Ans.24(A)

The Bacille Calmette-Guerin vaccine | Tuberculosis

(popularly called BCG vaccine) is a

vaccine to prevent which of these

diseases?

Bacille Calmette-Guerin vaccine (BCG): e The BCG vaccine contains live bacteria that have been
weakened (attenuated) so that they stimulate the immune system
but do not cause disease in healthy people.

e BCG is used in many countries with a high prevalence of TB.
e In countries where tuberculosis or leprosy is common, one dose
is recommended in healthy babies as close to the time of birth as
possible.
Ans.25(B)
Ocean Shape Other information
Pacific Irregular Largest ocean and deepest trench- Mariana Trench
Triangle lies here
Atlantic S- shaped It is one-fifth of Earth’s surface and separates the
continents of Europe and Africa to the east from
those of North and South America to the west.
Arctic Roughly It is the smallest and the coldest ocean
circular
Indian Roughly It is the third largest ocean and Ocean borders Asia,
circular Africa, Australia and the Southern Ocean
(Antarctica).
Ans.26(A)

Author Books

Khushwant = Train to Pakistan

Singh = The Sunset Club

= The Company of Women
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Shashi Tharoor = An Era of Darkness

= Why | Am A Hindu

= The Paradoxical Prime Minister

= India From Midnight to the Millennium
Manmohan = Changing India

Singh = The Quest for Equity in Development
= Collateral and Monetary Policy

= Collateral and Financial Plumbing
Jhumpa Lahiri = Unaccustomed Earth

= The Namesake

= Interpreter of Maladies

Ans.27(D) = The Constituent Assembly of India adopted the Constitution of India on 26 November 1949.

Name of the Committee Chairman
Drafting Committee B R Ambedkar
Fundamental Rights  Sub- | J.B Kriplani
Committee
Order of Business Committee K M Munshi
Union Powers Committee Jawaharlal Nehru
Ans.28(A)
Concept Understanding Application
Venn As Mouse is a part of Hardware but chrome is a part
diagram of Software so option 1 is correct.

O

Ans.29(C)  The correct answer is option 3i.e. 1,4,3,2,5
Concept Understanding
Dictionary The words are arranged in reverse dictionary order.

Ans.30(A)

Concept Application
Pattern: Following this pattern, figure in option 1 will be the next figure.

The shape with pointed

arrow is moving clockwise ﬂ 1—'
by 90 degree in each step

while other one is moving | :I.. l |

anticlockwise by 90
degree in each step.

Ans.31(C)
Concept Understanding Application
Venn diagram I Moon and Venus are the part of Universe only.
—>Universe
O —= Moon
Ans.32(B)
Concept Understanding Application
The complete | Low pressure creates Cloud | The logical order is-
process of Rain | then Rain occurs then | 5. Low pressure
and Flood. Rainbow can be seen and | 1. Cloud
then if the Rain is in major | 4. Rain
amount, it brings flood and | 2. Rainbow
then devastation. 6. Flood
3. Devastation
Ans.33(C)
Concept Understanding Application
Coding The letters in the words are coded as the letters in the word | Hence, REMEMBER is  coded
Decoding given as 32828523

FARMER'’ is written as ‘713823

We can see that F=7,A=1,R=3,M=8,E=2

Similarly,

LIBRARY is written as ‘6453139

We can see that

L=6,1=4,B=5 R=3,A=1,Y=9

We will change all the letters in the word REMEMBER with
the coded numbers given above
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Concept

Understanding

Missing number

The pattern followed here is,

The number in [Row 3, Column 1] = The quotient of 32+ 4 =8
The number in [Row 3, Column 2] = The quotient of 72+ 8 =9
The number in [Row 3, Column 3] = The quotient of 12+ 3 =4

Ans.35(A)  The correct answer is option 1i.e. 16 + 9+ 4 x 8 =34
Concept Application
BODMAS 16+9+4x8=34
34=34
Ans.36(B)
Concept Understanding Application
Series — Missing term The pattern followed here is, Hence,
9-42=-7 Next term = -20 - 12 =-21
-7-32=-16
-16 —22=-20
Ans.37(B)
Concept Understanding Application
Country — Currency | As, we know Euro is a currency of Finland, | Similarly,
Dirham is the currency of United Arab | Dinar is the currency of
Emirates, Rial is the currency of Iran and | Libya
Dollar is the currency of many countries like
Australia, USA, Canada etc.

Ans.38(C)
Concept Understanding Application
Coding MANDARIN’ is | The code for ‘DRAMA’
decoding | written as | would be ‘$&@%@ .
% @HS@&*#
Hence M=%, A= @,
D=$, R=&
Ans.39(B)
Concept Understanding Application
BODMAS x means added to, + means | 24+36-12x8+4
multiplied by , + means | After converting to
subtracted from and — means | actual symbols
divided by 24-36+12+8x4 =
24-3+8x4 = 24-
3+32 =53
Ans.40(D)
Concept Application
Curved surface area of | Curved surface area of cylinder =

cylinder=2x1mxrxh

2xTrxrxh=627
2x3xrx11=627
r=9.5cm

Ans.41(A)

Concept

Understanding

Application

Tan A=5/12=P/B

Given, tan? A = 25/144
Tan A=5/12=P/B

Sin A=P/H=5/13
Sec A=H/B=13/12

P2 + B2 = H2 Sin A+ Sec A=5/13 + 13/12 = 229/156
25+ 144 = H?
H2 =169
H=13
Ans.42(B)
Concept Application
Perimeter of semicircle = Diameter + Half | 72 =2r + 1ir

of circumference

72 =r (2+2217)
(72x7)36=r
r=14cm

Area of circle = (22/7) x 14 x 14 = 616

Ans.43(B)

Understanding

Application

Rs 176.7
Loss% = 7%
Let the cost price be x

The selling price of article =

According to question,
(100 - 7)% of x = 176.7
93% of x = 176.7

x = (176.7 x 100)/93 = 190

Selling price when 15% profit is required = (100 + 15)% of

190 = (115/100) x 190 = Rs 218.5
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Ans.44(D)

Concept Understanding Application Fair calculation

Logic Used: The question does | Percentage of | If average | 50 x (11 +9)

not give a specific number of | boys in school = | weight of boys is | = 1000

girls and boys, so we can | (100-55) = 45% a kg, then,

assume any value in the said | Ratio of girls and | 11 x63.5+ax9

ratio in question and proceed. boys = 55:45 = | =50 x (11+9)

11:9 6985 + 9a =

Let there be 11 | 1000

girls and 9 boys in | 9a =301.5

school. a=335
Ans.45(A)

Concept Understanding

Image The logic followed here is:

Series 1) In first two steps, figure having 5 sides is present, in next two steps figure
having 4 sides is present, thus in next two steps figure having 3 sides ahould
be present.

2) The arrow moves 90 degrees in the clockwise direction at each step.
Folloeing this logic, the next image should be
Ans.46(A)
Concept Understanding

The logic followed here is:
1) The size of the circle is increasing at each step
2) The square is inside and outside the circle respectively at alternate steps

Image Series O

Folloeing this logic, the next image should be

Ans.47(A)
Concept Understanding

The logic followed here is:

The spin wheel is rotating and the marker stops on numbers followinh the order - 2, 4, 8,
16, 32

Image 2

Series 16 @f
8

32
Folloeing this logic, the next image should be

Ans.48(C)  Speed of faster train = 58 km/hr
Speed of slower train = 49 km/hr
Relative speed (same direction) = 58 - 49 = 9 km/hr =9 x (5/18) = 2.5 m/s
Time = 3 minutes = 3 x 60 = 180 seconds.
Distance travelled = Sum of lengths of both trains = Relative speed x time
Let length of trains be x and x + 10.
X +x+10=2.5x 180

2x + 10 =450
2x =440
x =220
Length of longer train =x + 10 =220 + 10 =230 m
Ans.49(B)
Concept Understanding Application Fair calculation
In case of angle | Given zBOC = 122° 122 =90 + (A/2) (122 - 90) x 2 = 64°
bisector, A =64°
<BOC = 90° +
(¢£A12)

Ans.50(B)  Smallest number divisible by 3,5, 7and 11 =LCM (3, 5, 7, 11)
=>3x5x7x11=1155
Second smallest number = 2 x 1155 = 2310
To leave a remainder of 2, the number should be = 2310 + 2 = 2312
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10.

11.

Fb:-

ENGLISH

Choose the most appropriate answer and fill in the
blanks:

How oranges do you put in the box?
(A) Much (B) Most
(C) Many (D) More

Choose the most appropriate answer and fill in the
blanks:

You will not succeed
(A) If

(C) When

you work hard.
(B) While
(D) Unless

Choose the most appropriate answer and fill in the
blanks:

Adjective form of 'Friend’ will be .

(A) Friendship (B) Friendly

(C) Befriend (D) Friendhood

Choose the most appropriate answer and fill in the
blanks:

Each of the students participating in the

examination.
(A) was (B) were
(C) has (D) have

Identify the part of speech of the underlined word.
He is young looking but an insipid young man.
(A) Noun (B) Adverb

(C) Adjective (D) Verb

Rewrite the sentences given below using different
degrees of comparison.

Shakespeare is the most famous of all writers in
English.

(A) Shakespeare is greater than any others writer in
English.

(B) No other writer in English is as famous than
Shakespeare.

(C) No other writer in English is more famous as
Shakespeare.

(D) Shakespeare is greater than any other writer in
English.

Choose the option to fill the blank space correctly.
There is plenty of time ............ the train for us.

(A) to get (B) to catch

(C) to hold (D) to reach

Rearrange the sentence correctly.

is aimed at (1) in by turncoats (2) the Anti-defection
bill (3) checking the evil practice indulged (4)

(A) 3142 (B) 3124

(C) 1234 (D) 4321

Rearrange the sentence correctly.

by his good batting (1) turns the table (2) on the
opposite team (3) a batsman often (4)

(A) 4213 (B) 4231

(C) 4132 (D) 4321

Change the narration.

Ram said to me "He had committed a mistake."

(A) Ram said to me that he had committed a mistake.
(B) Ram told me that he had been committed a
mistake.

(C) Ram told to me that he had committed a mistake.

(D) Ram told me that he had committed a mistake.

Change the voice.
We have completed our task before sunset.
(A) Our task had been completed before sunset.

(B) Our task has been completed before sunset.
(C) Our task was completed before sunset.
(D) Our task is completed before sunset.

12. Choose the correctly spelt word.
(A) liesone (B) liazone
(C) lieison (D) liaison

13. Choose the option the expresses the meaning of the
given Idiom.

Yeomen service

(A) Service for a short period
(B) Very costly service

(C) Useful service in need
(D) Work without preparation

14. Choose the word that expresses the opposite
meaning of the given word.

WEARY
(A) Apathy (B) Falsity
(C) Refreshed (D) Crude
15. Choose the word that best expresses the meaning of
the given word.
CURTAIL
(A) Downsize (B) Lengthen
(C) Prolong (D) Extend
16. Select the word which means the same as the group

of words given.

Protection or of authority over someone.
(A) Autonomous (B) Tutelage

(C) Nonaligned (D) Unaided

Direction (17-20): Read the passage given below and
answer the questions that follow:

Chandrayaan-1 was India's first mission to the moon.
It operated for almost a year (between October 2008
and August 2009). The lunar orbiter is best known for
helping to discover evidence of water molecules on
the moon. The name Chandrayaan means "Moon
Craft" in ancient Sanskrit, according to NASA. The
Chandrayaan-1 spacecraft was based on an Indian
meteorological satellite called Kalpansat. It was about
the size of a refrigerator, with a dry weight (weight
without fuel) of about 525 kilograms (1,160 Ibs.) and
was powered by a solar array that charged lithium-ion
batteries on board.

Chandrayaan-1 launched on Oct,22,2008, from the
Satish Dhawan Space Center in Sriharikota, India,
aboard a Polar Satellite Launch Vehicle rocket,
according to NASA. It reached the moon on Nov. 8,
2008. The spacecraft released its Moon Impact Probe
on Nov. 14, which crashed into the moon on the same
day.

17. What crashed into the moon?
(A) Satish Dhawan Space Center
(B) Polar Satellite Launch Vehicle rocket
(C) Moon Craft
(D) Moon Impact Probe

18. When the Chandrayaan-1 reached the moon?
(A) on Nov. 8, 2009 (B) on Nov. 8, 2008
(C) on Nov. 9, 2008 (D) on dec. 8, 2008

19. From where the Chandrayaan-1 was launched?
(A) from the Satish Dhawan optical Center
(B) from the Satish Tiwari Space Center
(C) from the Satish Dhawan Space Center
(D) from the Sushant Dhawan Space Center
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20.

21.

22.

23.

24.

25.

26.

217.

28.

29.

30.
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What was the purpose of Chandrayaan-1?

(A) to discover evidence of water molecules on the
moon.

(B) to discover gases molecule on the moon surface.
(C) to discover mountains on the moon.

(D) to discover air molecules on the moon surface.
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Ans.1(C)

Ans.2(D)

Ans.3(B)

Ans.4(A)

Ans.5(C)

Ans.6(D)

Ans.7(A)

Ans.8(A)

Ans.9(B)

Ans.10(D)

Ans.21(D)

ENGLISH

The correct answer is option C i.e. Many.

Many + plural Noun.

As 'oranges' in the sentence is plural. Many will
suit the blank space grammatically and
contextually.

So the chosen option is correct.

The correct answer is option D i.e. Unless.

As the first sentence is negative and the other is
positive we have to choose the connector
according to it.

According to options only Unless will fit the
context because this shows both conditions and
contradictions.

So, this will be the right answer.

The correct answer is option B i.e. Friendly.
Whenever we add 'ly' with a noun it becomes
Adjective.

As Friend is a noun so "Friend + Ly- Friendly
will be an adjective.

The correct answer is option A i.e. was.

Each of + plural noun + singular verb .
According to this rule, we have to choose Was
as our answer because it is singular.

"Has/have + v3" so this can not be the right
answer.

The correct answer is option C i.e. adjective.
insipid- (adjective) lacking flavor; weak or
tasteless.

The correct answer is option D i.e. Shakespeare
is greater than any other writer in English.

The first option will be wrong because - "any +
other" is correct.

In the second option it should be - as famous as.
In the third option, it should be - as famous as.
The fourth option has all the agreement so it will
be correct.

The correct answer is option A i.e. to get.

"To get' is used for the train.so the chosen option
is correct.

The correct answer is option A i.e. 3142.

The best of solving this section is forming pairs.
The first pair will be "Anti-defection bill is"
because a subject needs the verb.

The second pair will be " indulged in " means 42.
The correct arrangement will be- 3142

The Anti-defection bill is aimed at checking the
evil practice indulged in by turn coats.

The correct answer is option B i.e. 4231.

The best of solving this section is forming pairs.
The first pair will be "batsman often turns
because a subject needs the verb.

The second pair will be "opposite team by his"
means 31.

The correct arrangement will be- 4231

A batsman often turns the table on the opposite
team by his good batting.

The correct answer is option D i.e. Ram told me
that he had committed a mistake.

If the reported speech is in past perfect tense we
don't change the tense of the statement.

said should be changed into- told.

That should be used as a conjunction.

Ans.11(B)

Ans.12(D)

Ans.13(C)

Ans.14(C)

Ans.15(A)

Ans.16(B)

Ans.17(D)

Ans.18(B)

Ans.19(C)

Ans.20(A)

The correct answer is option B i.e. Our task
has been completed before sunset.

if the active voice is - subject + has/have + v3 +
object + other word.

Passive voice will be- object + have/has+ been +
v3 + by + subject.

As the chosen option follows the given rule it will
be correct.

The correct answer is option D i.e. liaison.
liaison- communication or cooperation which
facilitates a close working relationship between
people or organizations.

The correct answer is option C i.e. useful service
in need.

The meaning of the given idiom is-

Yeomen service- useful service in need.

The correct answer is option C i.e. refreshed.
weary-feeling or showing extreme tiredness,
especially as a result of excessive exertion.
refreshed-having regained strength or energy.
crude-in a natural or raw state; not yet
processed or refined.

As the chosen word express the opposite
meaning of the given word it will be correct.

The correct answer is option A i.e. Downsize.
curtail-reduce in extent or quantity; impose a
restriction on.

downsize-make (something) smaller.
prolong-continuing for a long time or longer than
usual; lengthy.

extend-cause to cover a wider area; make
larger.

lengthen-make or become longer.

As the chosen word expresses the best meaning
it will be the correct answer.

The correct answer is option B i.e. tutelage.
autonomous-(of a country or region) having the
freedom to govern itself or control its own affairs.
tutelage-protection of or authority over someone
or something; guardianship.

nonaligned-not aligned with something else.
unaided-needing or having no assistance;
without help.

As the chosen option has the same meaning as
the given group of words it will be correct.

The correct answer is option D i.e. Moon Impact
Probe.

As it is clearly mentioned in the passage that
The spacecraft released its Moon Impact Probe
on Nov. 14, which crashed into the moon on the
same day.

The correct answer is option B i.e. on Nov. 8,
2008.

As it is clearly mentioned in the passage that It
reached the moon on Nov. 8, 2008.

The correct answer is option C i.e from the
Satish Dhawan Space Center.

As it is clearly mentioned in the passage that
Chandrayaan-1 launched on Oct,22,2008, from
the Satish Dhawan Space Center in Sriharikota.
The correct answer is option A i.e. to discover
evidence of water molecules on the moon.

As it is clearly mentioned in the passage that
The lunar orbiter is best known for helping to
discover evidence of water molecules on the
moon.
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et Ferwe-TERT IR (BCG): m%ég?’{&nwn?ﬁaﬁaﬁﬁﬁaﬁﬁ%wmﬁaﬁnﬁrm
PRI T T
= BCG &1 SUANT B3 o H et & 3= TR P 1Y foarm S 3|
= 3 = & gt qufess a1 $F T 31 7, W Rggedt F 5 & wwy

F HT U P DI RGNS FF oIrelt 81
Ans.25(B)
TR PR 3 gl
Jfcdifed S- SHTHR BT Ig gt B qdg &I Uradl [eRT § SR IY T 3NBidT &
ugﬁ?aﬁwﬁvaf‘m@ﬁm%ujﬁmﬁw
FRAT B
e RYEd: TR I8 G4 BIeT 3R To4 681 HeRIFR 8
YR YId: TR I8 TRRT e 981 HENIR 3R HENIFRIG I7 uiRmn,
3MpiaT, Srefer iR gféofl TeRTR (sfedfe®) B
Ans.26(A)
[NRSED inkd
gurdd Rig = ¢ g UfearT.
= g I T4c a9
:EMW@:{
R YRR = T W 3B SlH1d
= a1 3 T U fig
= g WIsTardhd ured A e
> sfea win frsmge ¢ & i
TTAE Rig = dfonT gfean
> T B BR 3531 51 SaaUHe
= e .qg O\ o
= DI US Wi IR WIHIST
2 el = FUHICHS 3
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Ans.27(D) = YR P GAYH THT A 26 TdeR 1949 B HRA & TALTT BT SO
gffa &1 9H e
e gt o 3R TSI

Aifere SR IU-Affd | o &t Huart
IR AT B SR | & vy o9=i
Fdt e gfAfa SATER ATd Ag

Ans.28(A)
[EEIR I 3rde
3 3T 4P 739, a@%u?
fowr g afeA ﬁn
me%w%
O zafoy 1 foeeu wet 21
Ans.29(C) el SR fapeu 38 31l 1, 4,3, 2,5
[EEIR SR
UeChI el 1 Io¢ UsGhI hH H Aayd fobar T B
Ans.30(A)
[CEIN 3Mded
e 39 Uc & dIc, f[adbed 1 37T 8N

IHIA IR & T HHR YA aR01 & g Bt fe=m & 90 5]

ot ¥ 3 55 a7 2, T o TS TR A 90 et D:| +J I:EI
Y uSt 3! faudia fewn 9@ wT 8| :I TI I:

Ans.31(C)
[EEI REEE 3MaeT
37 3R A AT 3R YH Had TS
1l
—> U niverse
O —= Moon
Ans.32(B)
[EEI REER 3MTde
TN 3R ¢ S GH | HH 919 SIGd ST § 99 al | i HA§
ufshar| sﬁ?ﬂ%fﬁﬂsa @ IHATR | 5 FH aad
aﬁvﬁo—{m% a@f’rumﬁzﬂ?ﬁ 1. 99
2 @ a1g ot ? SR R qerd | 4. IR
B 2. 35U
6. dl¢
3. qaTe!
Ans.33(C) a3l B 3H&RI DI [T U o & 3M&RT P ©U | Plied bl T @
FARMER ‘&1 8 713823 & U # forar Sa1 &
AT UhdgfbF=7A=1R=3M=8E=2
EGINS
LIBRARY ‘&I R 6453139 forar Srar &
FHIT DA S b
L=61=4B=5R=3A=1Y=9
BH REMEMBER g & T4t 31eRf &1 S fou T Hifsd TJomsit & Ty sga ¢
3oy, REMEMBER & 32828523 & ©U § Bifgd fbar mar g
Ans.34(C)

SEERI

q T O3 Wy Ndd@M=32+4&

YRS H T = 8

[bfed 3, WH 2] A TSN =72 - 8%

YRAThd H T = 9

[dfed 3y 3) H @M = 12 = 3 &

YT H TBT = 4

Ans.35(A) YO IR ABT 18T 16+ 9 + 4 x 8 = 34
B9 YIS faded § o T & 311 1 fawed forgl ) dgan R Iy o

[EEI 31de

BODMAS 16+9 <4 x8=34
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Ans.36(B)
RS 31
STl T U Uc T8l @, ESISH
9-42=-7 SFTAT TG = -20 - 12 = -21
7-32=-16
-16-22=-20
Ans.37(B)
[EEIN AT 3rded
S - Ta ST b, B9 WA & 1 9 | SH avg, 4MR dted
e s |
T SR e
fara &R Bt gam § iR
SR ofieeferm,  SmReT
FHST 3 S s ;T BI
LA
Ans.38(C)
EEI SLER 3Mded
Coding 'MANDARIN' &1 '%@#$@8*# RIGTSIAIE | DRAMA' & @IS
decoding U M=%A=@D=3$R=& '$@%@' BT
Ans.39(B)
[EEIN AT 31ded
BODMAS x DT AT TSI Q, + BT | 24 +36-12x 8 = 4
3f TOT BT B, + BT | IRAGd el | uRafdd
Rfgerrg R -pr3ef | SR FH TG
g FRT | 24-36-12 + 8 x 4 = 24-3 +
8 x4=24-3+32=53
Ans.40(D)
EEIN 3

S BT 9% Jdg Bl | So I dh Iag HT &9hd = 2
W:anxrxh xmxrxh=627
2x3xrx11=627

r=9.5 3}
Ans.41(A)
[CEIN LRI 3Mded
Tan A = 5/12 = | [T, tan? A = 25/144 Sin A = P/H = 5/13
RESTEIRIN Tan A = 5/12 = TI/3MUR Sec A = H/B = 13/12
AT + MUR? = HaAS? Sin A + Sec A = 5/13 + 13/12 =
25 + 144 = $S2 229/156
J1 = 169
FE = 13
Ans.42(B)
[EEIN 3Mded
fqa ot oRfY = =g + TR &1 | 72 = 2r+ e
3y 72 = r 2+22/7)
(72 x7)/36 =r
r=14cm
T P &THA = (22/7) x 14 x 14 = 616
Ans.43(B)
JaST 3Mde

X D1 faopd 4o = 176.7 | U & SFER,

£ x BT (100 - 7)% = 176.7

g% = 7% X BT 93% = 176.7

AN HTHT A xS | x = (176.7 x 100)/93 = 190

15% TY B MEAGHdl g+ W
faswa g = (100 + 15)% of 190
= (115/100) x 190 = Rs 218.5

Ans.44(D)

[EEIR AT 3T 3Ifrd 7o
Tgad ddb: Uy | asidhdl 3R dSd! &1 | d B ded! &I Ua=id = (100- | IfE ASH! BT 3 | 50 x (11 + 9)
DS T ET < T ©, oY gH fhAt | 55) = 45% oM a el B, a0, = 1000
ot 9 Y feT U 3uTd & 1 A Uha | TSfaal iR ASdh! BT U = | 11x 635+ax 9=
g IR M g R I & 55:45 = 11: 9 50 x (11 + 9)

T b W ® 11 dsfdai 3R 9 | 698.5 + 9a = 1000

TS B 9a = 3015

a=335
Ans.45(A)

EEIN
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ST g 7 T b1 UTe 1ol Il &
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2) IR Ud® U W gféonad fo=n & 90 fEH R
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Y I B! &M H TG gT, 3FTeH Bfa ST Aty

Ans.46(A)

[EEI REELI
3Tl 4T | T&T -9 b b1 UTe [h T ST &:

1) U TRUI IR I BT ABR 6 61 &
2) 97 depfetes =R H AT g & 3feR SR TR
39 d% ! & § Tad gL, 3ATel i gt =

O

Ans.47(A)

JHIAT

[EEI
3TpTdl AT | Tg! -9 b b1 UTeH [oh T STl &:

& & g Y1 7 3R AR A | g e
WIBAIR -2, 4, 8,16, 32
G a6 $ 9 § @A g, el By B+

Bl
2
16 @
8 32
Ans.48(C) O 71T aTelt ¢ 1 7T = 58 TapH/der
e wifar ATl < @ TIf = 49 fafi/Eer
groef TIer (T &) M) = 58 - 49 = 9 fBHi/Eer = 9 x (5/18) = 2.5 Me/Abs
Iy = 3 fiFe = 3 x 60 = 180 AP S|
T DTS G = GHI Sl Bt aTs BT AN = WIUE T « T
HFAT 2 BT TS x 3R x + 10 B1
X+ X+ 10=25x 180 =
2x + 10 = 450
2x = 440
x =220
I O B AT = x + 10 = 220 + 10 = 230 Hex
Ans.49(B)
GEEE] 3rded e oM
PV GHUSTS S UAA A, | Given 2BOC = | 122 =90 + (A/2) | (122-90) x 2 = 64°
£BOC = 90° + (£A/2) 122° A = 64°
Ans.50(B) 3, 5,7 3R 11 J fauTiorg 817 arelt Te B Team = Agad JHMad (3, 5, 7, 1)
=>3x5x7x11=1155
TERT T BICT BT = 2 x 1155 = 2310
2 Y g2 & fore, = g AR = 2310 + 2 = 2312
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